Rectangles, Rhombi, and Squares HW

ALGEBRA RSTU is a rectangle.
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4. WmsSUT = 3x + 6 and m2RUS = 5x — 4, find ms SUT.

2 IfRZ = 3x + 8and ZS = 6x — 28, find UZ.
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5. 16 mzSRT = 22 + 9 and m 2 UTR = 2x + 44, find x. 6. 1fmsRSU = x%2 — 1 and m£TUS = 3x + 9, find m2RSU.
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Rhombi/Squares
Use rhombus DKLM with AM = 4x, AK = 5x — 3, and D K
DL = 10. ’W
1. Find x. 2. Find AL. MK N
3. Pind m 2 KALL 4. Find DM.
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9. Find m 2 RST. 10. Find m28RV.



Rhmmb\/SQuwu.

AM =4 x

. Find %

AM = AK

"'[K =hx-3
—XcT- =3

2. Find AL

BL=AL+AL
DL = 2AL
IV =2AL

\:S:AL

4. DM

AM = 3(4) A
AM = 12, ?

V¥

o
2% 5% 7
[lby = 13
[ DM=13 ¥

e. Find TV. |
Tz RS defof Rhabus

TVz Spay g DAY BB
V=)

, KK=Bx=3 ano. DL =1\0

cu,egsoaad.é of ou Khowbus bisect
caln O+ner

3. <kaL

<kAL=90 diagonalsof

@ rhombud
CLhe L. .

LS =54+, 5T= 334%'\}‘/:@ ;
5. Fad Lﬁ
S =T

5L§+7-?3\[+L0
2y =H

~ Find m <NT\/‘,
needs 30° wo' A0" As.

w@ T m{NT\[:‘- 50.
| &

| Lnorbus
. (;‘;8& N = Side)

N
v




. mMm (SVT = LO°

q n {&ST= 120" = Lo 46D
g

R

WO . £ 88V =30+30 :
onglu o O v

= Lo°



Rhombi/Squares Continued

Use rhombus PRYZ with RK = 4y + 1, ZK = Ty — 14,
PK=3v— 1,and YK = 2v + 6.

1. Find PY. 2. Find RZ.

3. Find RY. 4, Find m2 YKZ.

Use rhombus MNPQ with PQ = 3\/§, PA = 4x — 1, and
AM = 9x - 6.

5. Find AQ. 6. Find m2 APQ.

7. Find m < MNP. 8. Find PM.

On graph paper, show all work and follow all instructions. Failure to show work on graph paper will result in

a zero.

9. Determine whether the figure with vertices F(-4,-3),G(3,-1), H(2,3) and J(-5,1) is a rectangle.

10. Determine whether the figure with vertices F(-4,-3),G(-5,8), H(6,9) and J(7,-2) is a rectangle.

11. Determine whether the figure with vertices E(-2,-1), F(-4,3), G(1,5) H(3,1) is a rhombus.

12. Determine whether the figure with vertices W(1,10), F(-4,0), Y(1,7) Z(-4,7) is a rhombus.

13. Determine whether the figure with vertices A(0,3), B(-3,0), C(0,-3), and D(3,0) is a square.

14. Determine whether the figure with vertices A(-4,0), B(-3,3), C(2,2), and D(1,-1) is a square.
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